A r

DAUMEN

Klasse: 7
Thema: Rechnen mit Termen — Multiplizieren von Summen

Losungen

Forme moglichst geschickt um:

(2x + 3) * (5 + 6X)
=12x?+ 28x + 15

(By +4) ™ (2x + 3y)
= 15y? + 10xy + 8x + 12y

(7x-4)* (2 +4y)
=14x + 28xy - 16y — 8

(2x + 2y) * (2x + 2y)
= 4x? + 8xy + 4y?

(By +4x) * (x + 2)
= 3xy + 6y + 4x* + 8x

(Bx+2)*(x+4)
=3x*+14x + 8

(8x +8)* (4-y)
= 32x - 8xy + 32 - 8y
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(9 - 2x) * (2 + 2x)
=18 + 14x - 4x2

(-1 - 4%) * (3x + 2x)
= -5x - 20x2

((3 + 3x) * (7 - 4x))* (2 + 2x)
=21+ 9x - 12x?
=42 + 60x + 6x* - 24x3



